N = 0l & AF & F Al A

M
W= DNEC R
=IOl MY (&2 &2
SA - EH .S (BH) - MBAY - B Ao gggﬁ HRS2
175,727 148,096 27,631
&2 3t 23,205 0 23,205
=JIRI| ALY 23,205 0 23,205
AT B EZH D 23,205 0 23,205
401 ASHILLHY 23,205 0 23,205
01 Al&H| 23,205 0 23,205
O=EosH Byl o EHEH D)
64,9903 * 119.017m* * 33| 23,205
e dEH(AMES) 162,522 0 152,522
29 bl 13,300 0 13,300
S5 o1& 29| 13,300 0 13,300
203 LLEXY| 13,300 0 13,300
01 JI22IYERF=&| 7,900 0 7,900
O#dsg Iy g4
7,900,000& * 1= 7,900
02 HIAIMNMHR=AH| 1,200 0 1,200
ONES FAIIN ARETY)
40,0003 = 30¢Q! 1,200
04 RENSIYERF=EH 4,200 0 4,200
OMES BNSYAREAY|
350,000& * 1§ = 128 4,200
=Rl 139,222 0 139,222
S8 Jl=24h| 139,222 0 139,222
201 «BtEAd| 53,887 0 53,887
01 ArR2t2|bl 53,887 0 53,887
Ole+gY] 46,516
ORANSISHH & 34,398,000& * 1A 34,398
ONBS B0 Yu2H|
1,009,800& * 128 12,118
Ol2&Hl] 7,371
SENECELIPN 7,371,008 * 14 7,371
202 OiHl 84,285 0 84,285
01 Z2UWdH| 12,285 0 12,285
O[=2W0oHI] 12,285
OSN2Y ZuHY 12,285,008 * 14! 12,285
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